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1. Define and illustrate any three : [3×3] 

 ßP˜FÞF, ÛFFPáFÎFU, ÛFÎ¼Ft+FÎ¶FF, öF;ÍFÞF, PèF&FPÞµFU 
 

2. Scan and name the metres in any two of the following : [3×2] 

 =+) õFF PÎFÎ¼Î¶FU õæFFPÎF ÚFF;ÜFFPÎF ÙFFáFF— 

 &F) EPÚFÛF]&FW ÛFPÜF õFkB¶FÛFUP‡F¶FÛFh— 

 ;F) ÜFF¶ÜFW=+¶FXNõ¶FPèF&FÞk ÑFP¶FÞXðFÍFUÎFFÛFh— 

 fF) ÍFWÎF]ÍFUaÞF: õF[ÎF_¶FFk æFF˜FÛFFC:— 
 

3. a) Decline any five of the following : [5] 

  i) ›%!˜ in ¡ìÛþ# îýî‰þ˜ ii) þ™!í ä̃ in “,þ“þ#ëûy ~„þî‰þ˜ 

  iii) œ“þy in ‰þ“%þí#Å ~„þî‰þ˜ iv) !þ™“,þ in !m“þ#ëûy îýî‰þ˜ 

  v) =!’˜ä in !m“þ#ëûy îýî‰þ˜ vi) þ›!“þ in ‰þ“%þí#Å ~„þî‰þ˜ 

  vii) ˜”# in “,þ“þ#ëûy ~„þî‰þ˜ 
 

 b) Conjugate any five of the following : [5] 

  i) ;Feùh in áFX©h 2nd person singular number  ii) þGðFh in áF©h 3rd person plural number 

  iii) ùÎFh in PáF©h 3rd person singular number iv) ¡FÎFh in áF‘h~ 3rd person singular number 

  v) E¼h in PáF©h 3rd person singular number vi) þæF˜Fh in áF_©h 1st person singular number 

  vii) ÚFU in áF©h 3rd person plural number 
 

4. Answer any one long question : [10] 

 a) Ö„þ˜y¢ ö„þ !Šéöìœ˜Ú þ™yàþÄy‚Ÿ xîœÁºöì˜ “¤þyîû vþzþ™öì”öìŸîû ¢yíÅ„þ“þy !î‰þyîû „þîûÐ 

 b) îy’¦þR ç “¤þyîû îû‰þ˜yîû þ™!îû‰þëû ”yçÐ 
Or, 

 Translate any two into Bengali : [5×2] 

 a) EÑFÞW ¶F] õæFF»FaPÎFðÑFF¼ÎFÑFÞYÍFaÎFPÑFPèF¶F;FeFõF;F_ÍFdYÞFõ»FFÎFÎFPáFÎFUæF=Y+Ã[a¶Fk PæFÎFX¼ GP¶F, ÑFÞ¼FÞFPÚF;FÛFÎFk æFY¼;ÍÜFPÛFP¶F, ÛF_;FÜFF êFÛF GP¶F, 
ÑFFÎFk PæFáFFõF GP¶F, ÒÛF¸F¶FF èFZÜÜFaPÛFP¶F, õæF¼FÞÑFPÞ¶ÜFF;FXNæÜFõFPÎF¶FWP¶F, ;F]ßæF˜FÎFFæFÍFUÞµFÛFÑFÞÒµFWÜF¶æFPÛFP¶F....— 

 b) ¶F¼WæFk ÒFÜFFP¶F=]+P©áF=+ñ˜FWñFõFùöF¼FßµFW ÞF¡ÜF¶FÎ·FWNPõÛFÎFhÛFùFÛFXù=+FPÞPµF ˜F ÜFZæFÎFW =]+ÛFFÞ! ¶F»FF ÒÜF¶FW»FF ÜF»FF ÎFXÑFùõÜFõFW ¡FÎFY:, 
ÎF PÎFÎÃõFW õFFÍF]PÚF:, ÎF PÍF=+hPt+ÜFõFW ;F]ßPÚF:, ÎFXÑFFáFÚÜFõFW õF]B¼hPÚF:, ÎF èFX˜ÜFõFW PæFÂ¼hPÚF:— 

 c) õFæF»FFa =+áÜFFµFY: PÑF·FF Pt+ÜFÛFFµFÛFÎF]ÚFæF¶F] ÚFæFFÏFæFÜFZæFÞF¡ÜFFPÚFðFW=+ÛF”~áFk, =]+áFt+ÛFF;F¶FFÛF]Âù ÑF[æFaÑF]ßðFYà³Fk ÍF]ÞÛFh, EæFÎFÛFÜF 
PÂðF¶FFk PèFÞFkPõF, HÏFÛFÜF ÙFÎÍF]æF;FaÛFh, EPÚFðFW=+FÎFÎ¶FÞk ˜F ÒFÞÙÍFP¼P;æF¡FÜF: ÑFPÞÚFeÛFÎFh PæFP¡F¶FFÛFPÑF ¶FæF PÑF·FF õFÓFÂUÑFÚF[ðFµFFk 
ÑF]ÎFPæFa¡FÜFõæF æFõF]ÎÍFÞFÛFh— 

 

5. Translate into Sanskrit (any one) : [10] 

 a) {Ù»îû‰þw ÷ŸŸî öíöì„þ£z ”!îûo !Šéöìœ˜Ð “þíy!þ™ !“þ!˜ ”y!îûöìoÄîû ¢öìD ë%kþ „þöìîû !˜öì‹îû ²Ì!“þ¦þyîöìœ îvþü !îmy˜ £öìëû!Šéöìœ˜Ð 
“¤þyîû ›y“,þ¦þ!_« x¢y•yîû’ !ŠéœÐ “¤þyîû ›y“,þ¦þ!_« xy›yöì”îûöì„þ Ö•% ²Ì#!“þ£z ö”ëû ˜y– x %̃öì²Ìîû’yç ö”ëûÐ 

 b) ö„þy˜ xy”ŸÅ Šéyvþüy ‹#îöì˜îû x@ùÌ†!“þ x¢½þîÐ ¢%!˜!”ÅÜT œÇþÄ£#˜ þ™!í„þ †›öì˜ ›sþiîû £ëûÐ “þyîû £*”ëû vþzê¢y££#˜ ~î‚ ö¢ 
Ÿ!_«£#˜ £ëûÐ œÇþÄ!î£#˜ ‹#î˜ ¢îÅ”y !˜îûy˜¨ ç ¦þyîûßþºîû*þ™ £ëûÐ vþzF‰þy„þyAÇþ# îÄ!_« „Ïþy!hsþ£#˜ £öìëû ßþº„þyëÅ¢y•öì˜ ²Ìî,_ £ëûÐ 
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6. Carefully read the following passage and answer the questions in your own Sanskrit : [2×5] 

 EFõFU¶Fh ;FZ¶FÛFõÜF ¶FÑFXæFÎFW ÛFùF¶FÑFF ÎFFÛF ÛF]PÎF:— ¶FWÎFFêFÛFõFPÏFÍFFÎFW ÛF[PðF=+èFFæF=+: =+F=+ÛF]&FF¼h ÚFeñX ¼_ñ:— ¶F¶F: õæFÚFFæF¼ÜFF¶ÛFÎFF ¶FWÎF 
ÛF]PÎFÎFF ÎFUæFFÞ=+µFY: õFkæFPÍFa¶F— ¶F¶FX ÛFF¡FFaÞõ¶Fk ÛF[PðF=k+ &FFP¼¶F]ÛF]ÑFÍFFæFP¶F— ¶FÛFæFáFXƒÜF ÛF[PðF=+õ¶FõÜF ÛF]ÎFW: t+X°k ÒPæFæFWèF— ¶F¶FX 
ÛF]PÎFÎFX…+ÛFh- iÛF[PðF=+! ¶æFk ÛFF¡FFaÞX ÚFæF— ¶F¶F: õF ÛFF¡FFaÞ: =]+„]+Þk ¼_óF ÑFáFFÜF¶FW— ¶F¶FX ÛF]PÎFÎFX…+ÛFh- =]+„]+ÞF¼h PÙFÚFWPðF? ¶æFÛFWæF =]+„]+ÞX 
ÚFæF— õF =]+„]+Þ: æÜFFfFeF¼h PÙFÚFWP¶F— ¶F¶Fõ¶FWÎF ÛF]PÎFÎFF =]+„]+ÞX æÜFFfFe: =_+¶F:— JæFk æÜFFfFe: õFÎFh J=+¼F ¶FÛFWæF ÛF]PÎFÛFh &FFP¼¶F]ÛFh ;F¶FæFFÎFh— ¶F¼F 
ÛF]PÎFÎFX…+ÛFh- ÑF]ÎFÛFa[PðF=+X ÚFæF— ¶F¼F õF ÑF]ÎF: ÛF[PðF=+: EÚFæF¶Fh— 

 =+) =+õÜF EFêFÛFõÜF õFPÏFÍFFÎFW ÛF[PðF=+èFFæF=+: ÑFP¶F¶F:? 

 &F) õF ˜F ÛF[PðF=+: =+»Fk õFkæFPÍFa¶F:? 

 ;F) õF ˜F =+»Fk ÛFF¡FFaÞXNÚFæF¶Fh? 

 fF) õF ˜F =+¼F æÜFFfFeXNÚFæF¶Fh? 

 ‘~) ÑFPÞèFWðFW ¶FõÜF =+U¼_èFU ÑFPÞµFP¶F: EÚFæF¶Fh? 
 

7. Join in Sandhi any three of the following : [1×3] 

 ë!”++ x!þ™—  “þê++ ×&cy— „þî#++ £zöì›ï— ö˜++ x˜›ä— !˜ƒ++ îûîƒÐ 
 

8. Disjoin the sandhis in any three of the following : [1×3] 

 ›˜#¡ìy— îûîyî%!”öì“þ— ˜#öìîûy†ƒ— ›•¹,öì“þ— Ÿëû˜›äÐ 
 

9. Account for the case-endings of any two of the following underlined words : [2×2] 

 =+) æFF¶FFÜF =+PÑFáFF PæFÃ]¶Fh— &F) ;FXÑF: ;FFk ¼];ÍFk ¼XP;ÍF— 

 ;F) EÍÜFÜFÎFWÎF æFõFP¶F— fF) ÛFFõFWÎF æÜFF=+ÞµFÛFh EÑF*¶Fh— 
 

10. Give examples of the following (any two) : [2×2] 

 =+) EÎFF¼ÞW ðFòU &F) PÎFÍFFaÞµFW õFÓFÛFU 

 ;F) æÜFFÓÜF»FWa PÂ¶FUÜFF fF) ÚFFæFW õFÓFÛFU 
 

11. Correct any three of the following sentences : [1×3] 

 a) îûy‹y •öì›Å’ ²Ì‹y ä̃ Ÿy!hßþÐ b) þ™)‹ëû ¦þ†îy˜›äÐ 

 c) î¡ìÅyëûy‚ þ™sþiyƒ !þ™!FŠéöìœy ¦þî!“þÐ d) ›£yîûy‹¢Ä !“þßþËƒ þþ™%ey xy¢˜äÐ 

 e) þ™%Ü™‰þëû˜‚ „þöìîûy!hsþ îyœyƒÐ 
 

12. Substitute in single words (any three) : [3] 

 =+) ¼èFÞ»FõÜF EÑF¶ÜFk ÑF]ÛFFÎFh— &F) ½ñ]PÛF˜šP¶F— 

 ;F) ¡FFÜFF ˜F ÑFP¶FëF— fF) èFP…+ÛFh EÎFP¶Ft+ÛÜF— 

 ‘~) ¡FW¶F]k èFƒÜFÛFh— 

 

 

 


